4 2t =-2=23
A1 23 —-1-3 |FmatsT
= H

4 1
4 2t —-3-2-3
a1 2-3 -1-3
= @ 4 1
AVREankimatSTa 2. 22
done
matrnewsmatT]
[j t—4- 3 —1]
= 4 1
AVREankimatTl, 1,12
done

matnewsmatT2
[dr=s+s-t.+d —= j+1]
"If 4-=+=-t= 3+4=0 we hawe 3 exchange steps"
"It dez+=-ts F+d=20 we have 3 exchange steps"
"If —=-3+1=#68 we have 2 exchange steps too
"If —=-3+1=8 we hawve 2 exchange steps too
solvel{ds+=-t- J+d=B,—=-g+1=B3, L=, t 32
Ls=—Fd,t=—d+4-
"Thus we hawve for s=—g,t=—d4+d-3: rankCAX»=rankCH, -k
"Thus we hawe for ==—g,t=—4+4-3: rankcA>=rankiH. -+
"mow consider 4-s+s-t-3+4#8 and s=-3"
"mow consider 4ss+=-t- 3J+4=*8 and ==-3"
G+t J+d | ==—3
t+4-4- 3
"o, tE-4+4- 3"
Mee. tE-d+4. 3"
"Thus we hawve for ==—-3j and t*-4+4-3: rankiA>=ranlk
"Thus we hawe for ==—gj,t*-4+4-3: rankcA>=rankiH. -+
"mow consider 4-s+s-t-3+4=0 and s*-3"
"mow consider 4ss+=-t- J+4=0 and ==-3"
2. rankiAX=2<rankcA,-b>=3"



".e. rankiAY=Z2<rank A, -b>=3"
"finally if d4.s+s«tsJ+d=20 and —-s« J+120: rank(AI=rark
"Fimally if 4-s+s-t-j+428 and —-z-J+128: rank(A)=rark
"Mow we consider the LinEgSys"

"Mow we consider the LinEgSws"
LinEgSwsimatsST,y 2.2

done
matrnewsmatT]
d t—4-3 -1
A -2Z2-3 1+3
= 4 1
LinEgqSy=imatTl,1.12
done
matrnewsmatT2
t- 3+4 -3
-2 3 1+3

dest+s-t-g+d —=- 3+1
"If 42=+=-t- F+4*8 we hawve an unique solution"
"If 4-=+=-t-F+4=8 we have an unique solution"
LinEgSw=simatTZ, 2,12
dore
matrnewsmatET

[ = t= J+d+d- 4] ]
Gest=-t- 3+
—([1—Fd)es«t+(—E—d« jl-=—d4—5: )
Ges+z-t- j+d
[s+4)-3
| de=+=ete 3+d
"Mawe a look on det{A>:"

"mawe a look on detf{H»:"

I—r
1

detr

n oW

= b

=8
w—



—Settdes- J+d- 3
factorOutians, 32
(des+z-t-J+d)- 3
"In case detiA»=H and s=—Fx .. t=—4+4- 3, we har
"Im case detiA»=H and s=—-Fs .. t=—d+d: 3, we hak
matTZ|s=—3 and t=—-4+4.3
~4-3 -3
—2«3 1+3
5 5
"solution: x=—-4jc—F. w=—2Z2jc+l+3z, zZz=c, c=C"
"solution: x=—d4jc—73, w=—2jc+l+zi, z=c, c=C"
O



